Federalism

® Federalism is a system of government in which
the power is divided between a central authority
and various constituent units of the country. This
vertical division of power among different levels
of governments is referred to as federalism.
Federalism is one of the major forms of power-
sharing in modern democracies.

Key features of federalism are:

(/) Two or more levels of government.

(i) Different levels of government govern the
same citizens, where each level has its own
jurisdiction in specific matters of legislation,
taxation and administration.

(i) Existence and authority of each level of
government is constitutionally governed.

(v) The fundamental provisions of the
Constitution cannot be unilaterally changed.
Such changes require the consent of both the
levels of government,

(v) Courts have the power to interpret the
Constitution. The highest court acts as the
umpire if any dispute arises between different
levels of governments.

(vi) Sources of revenue for each level of
government are specified to ensure its
financial autonomy.

(vil) Federal system has dual objectives to
safeguard and promote unity of the country,
and to accommodate regional diversity.
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Union Territories: Some units of the Indian
which are too small to become an indep

Union,

endent
state and could not be merged with any of the

existing states, are called Union Territorjes, They
are also called ‘Centrally Administered Territories’
For example, Chandigarh, Lakshadweep.

Coalition government: A government formed by
coming together of at least two political parties,
Usually, partners in a coalition form a politicl
alliance and adopt a common programme.

For example, National Democratic Alliance (NDA),
the United Progressive Alliance (UPA) and the Lef
Front.

India a federal country: The Constitution declares
India as a Union of States. Although the word
‘Federation’ is not used, the Indian Union is based

on the principles of federation. The Constitution |

originally provided for a two-tier system of

government, the Union Government or the Central f
Government representing Union of India and t_he ‘
State Governments. A third-tier of federto" -
was added in the form of Panchayats and |

Municipalities. As in any federation, these diff ;
tiers enjoy separate jurisdiction. The C0n5t_‘t“u.02
provides for a three-fold distribution of Iegﬁlat“:e
powers between the Union Government and St
Government.

It contains three lists: (i) Union List (57
(/i) State List (66 Subjects), (iii) Concurre
Subjects).

Subjecmu
nt List

erenl |




4ia s an example of ‘holding together’
e I ]whcm the Central Government is more
on

atic

erful than states. X

oW cther’ federations—This agreement

"""""g.tgepende“‘ states coming together on
. ‘I;nto form a bigger unit, so that by pooling

their OW and retaining identity they can increase

sovereéigzi‘w‘ Examples: USA, Switzerland and

theif ‘

australia:

ding together’ federations—In this agreement,
Hold!

, lrge country Fiecides to divide its power
en the constituent States and the national

ernment. The Central Governments tem_j to be

i werful vis-a-vis the states. Often different

mom‘;‘:nt units of the federation have unequal

m’:::rs‘ some units are granted special powers, for

Exﬂmpff, Spain’ BE|glum

sharing of power between the Unior-I Government

and State Governments: The sharing of power

hetween the Union Government and the State
Governments is basic to the structure of the
Constitution. The Parliament cannot, on its own,
change this arrangement. Any change has to be
frst passed by both the Houses of the Parliament
with at least two-third majority. It has then to be
ratified by the legislatures of at least half of the total
sates. In case of any dispute about the division of
powers, the High Courts and the Supreme Court
make a decision.

® Reasons for success of federalism in India:

() Clearly laid out Constitutional Provisions
providing a three-fold distribution of powers
in the three lists—Union List, State List and
Concurrent List—between the Union and
State Governments.

i) The nature of democratic politics in our
country.

(ii) The creation of linguistic states. Boundaries
of several old states of India were changed
in order to create new states. This was done
to ensure that people who spoke the same

_language lived in the same state.

(i Restricting of Centre-State relations.

% R
language policy of India: Our Constitution did not

iv .
ganeuthe Status of national language to any one
Biage. The formation of linguistic states united

betwé

Federalism || P-21

the country and made administration easier. The
leaders of our country adopted a very cautious
attitude in spreading the use of Hindi. Hindi was
Identified as official language. Besides Hindi, there
are 21 other languages recognised as scheduled
languages by the Constitution.

® Major steps towards decentralisation taken in

1992 are:

(i} Now it is constitutionally mandatory to hold
regular elections to Local Government bodies.

(ii) Seats are reserved in elected bodies for
scheduled castes, scheduled tribes and other
backward classes (OBCs).

(iii) At least one-third of all positions are reserved
for women.

(iv) The State Election Commission was created to
conduct Panchayat and Municipal elections.

(v) The State Governments are required to
share some powers and revenue with Local
Government bodies.

® Structure of the new Panchayati Raj institutions:
Rural Local Government is known by the name of
Panchayati Raj.

* Each village or group of villages has a Gram
Panchayat. Panch, President or Sarpanch are
directly elected by all the adult population of
the village and is the decision-making body.

* The Panchayat works under the supervision
of Gram Sabha, with all the voters as its
members. The local structure goes up to the
district level—a group of Gram Panchayats
form a Panchayat Samiti or Block or Mandal.
All the Panchayat Samitis or Mandals together
constitute the Zilla Parishad which consists of
elected members.

* Lok Sabha members, Local MLAs and officers
are also members of the Zilla Parishad.
Its Chairperson is the political head of the
Parishad.

Urban areas local bodies: Municipalities are set up
in towns. Big cities are constituted into Municipal
Corporations. Both are controlled by elected
bodies consisting of people’s representatives.
Municipal chairperson Is the political head of the
Municipality. The head of Municipal Corporation is

an officer called the Mayor.

4000

e

JIN3IS ValLnod



i

F;i IP 22 || Shivilas Board Exams Question Bank (Soclal Sclence X)
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1. Locate the following states on a blank outline

political map of India:
Manipur, Sikkim, Chhattisgarh and Goa.

Ans,
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2. Identify and shade three feder,
than India) on a blank outline

Ans.
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Related ™’ Concept

Federalism in a broad sense is 8 wode of aovernment that tombing
A general government (the central or federal” government) vty
regional governments (provincial, state cantowal, territprial p
other sub-unit governiments) in a single political Syjstem, dividing
the powers between the two.

3. Point out one feature in the practice of federalism in India that is similar to and one feature that is different

from that of Belgium.

Ans. Similarity. ‘Holding together’ federations—Both India and Belgium are examples of this kind of federation

where 3 large country decides to divide its power between the Constituent States and the National Government.
Some units are granted special powers, but the Central Government is more powerful vis-a-vis the states.
Difference. Besides the Union Government and the State Government, a third-tier of federalism was added in
the form of Panchayats and Municipalities for local representation in India.

In Belgium, apart from the Central and the State Governments, the third kind of government was the
Community Government—elected by people belonging to one language.

4. What is the main difference between a federal form of government and a unitary one? Explain with a1

example.

e e e e o i e

Federal Government

e o L L P P

(i) A federation has two levels of government. One is
the government for the entire country. The others

are governments at the State level,

Ans. Difference between a federal form of government and a unitary form of government:

the

() There is only one level of government Of
sub-units are subordinate to the Centre.

(i) Both Central and State Governments enjoy
their power independent of the other and are

separately answerable to the people.
Example: India

e T S

' o the
{li) The Central Government can pass orders!

provincial or the local government.
Example: United Kingdom
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nces between the local government before and after the Constitutional amendment in

s between local governments before and after the Constitutional Amendment in 1992:

ARSI e

() Itbecame constltuﬂonally m;anclarmry to hold regular

elections to local government bodies.

e —

-ﬂ\-a‘ gb\rrnmvnts did not have any powers or
: resources of their own.

¢ Fill in the blanks: .
he United States Is a

...............

type of

snce t .
spderation, 3l the constituent States have equal
owers and States Are ... vis-a-vis the
;ec‘eral government. But India i5 @ .cccornnnnannn type

of federation and some States have more power
wnan others. In India, the Government
has more powers.

Gince the United States is a coming together type
of federation, all the constituent states have equal
powers and states are strong vis-a-vis the federal
government. But India is a holding together type
of federation and some states have more power
than others. In India, the Central government has

A

more POWErs.

7. Here are three reactions to the language policy
followed in India. Give an argument and an
example to support any of these positions:
Sangeeta : The policy of accommodation has
strengthened national unity.

: Language based states have divided
us by making everyone conscious of
their language.

: This policy has only helped to
consolidate the dominance of English
over all other languages.

. S2ngeeta’s reactions hold weightage because
the federal experiment has succeeded in India
because of the clearly laid out power-sharing
afrangements in the Constitution and the very
nature of our democratic politics which has led

103 new culture of power-sharing and respect for
au?.onomy_

Arman

Harish

::d?:”' the boundaries of several old states of
This v‘:;”ZCha"Eed in order to create new states.
ethmms one to ensure that language, culture,
for em:‘no” BEOEfaph'p" got equal representation,
’haf*han;e' states h’ke Nagaland, Uttrakhand,
ey The experience has shown that the

on of linguistic states has actually made

e (5
ta'lerumrv more united and made administration

g

(i The State governments are required to share some

powers and revenue with local government bodies.
The nature of sharing varies from state to state.
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8. The distinguishing feature of a federal govern-

ment is:

(a) National government gives some powers to
the provincial government.

(b) Power is distributed among the legislature,
executive and judiciary.

(¢) Elected officials exercise supreme power in
the government.

(d) Governmental power is divided between
different levels of government.

(d) Governmental power is divided between
different levels of government.

9. A few subjects in various lists of the Indian
Constitution are given here. Group them under
the Union, State and Concurrent Lists as provided
in the table below:

Ans.

A. Defence B. Police

C. Agriculture D. Education
E. Banking F. Forests
G. Communications H. Trade

I. Marriages.

Union List J
State List §

Concurrent List g

Ans. Union List ; Defence, Banking,
Communications
State List 3 Police, Agriculture, Forests,
{ Trade
Concurrent List ; Education, Marriages
——— e i o e e e e e A
10. Examine the following pairs that give the level

of government in India and the powers of the
government at that level to make laws on the
subjects mentioned against each. Which of the
following palrs is not correctly matched?

1 State List

B

(a) State government ¢
Unlon List

(b) Central government
Concurrent List

(c) Central and State
governments 4

e Y

Reslduary Powers

e

(d) Local governments _{

Ans. The pair not correctly matched Is (d).

e et St
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11. Match List | with List Il and select the con:ect
answer using the codes given below the lists:

————————

8l SUBJECTIVE Topye. ;-

L N AR What is Federalism 2 ]
‘1. Union of India A. Prime Minister b=s : |
2. State B. Sarpanch i A rT \ .

Short Answer Type Questiong (SA
3. Municipal Corporation | C. Governor (EGSY) 'l)
4. Gram Panchayat D. Mayor (

1 2 3 4
(@) D A B C
(b) B C D A
(@ A c D | B
(@ C D A B
Ans. (o)

12. Consider the following statements:

A. In a federation the powers of the federal
and provincial governments are clearly
demarcated.

B. India is a federation because the powers
of the Union and State Governments are
specified in the Constitution and they have
exclusive jurisdiction on their respective
subjects.

C. Srilanka is a federation because the country
is divided into provinces.

D. Indiais no longer a federation because some
powers of the States have been devolved to
the local government bodies.

Which of the statements given above are
correct?
(a) A,Band C
(c) A and B only
(c) A and B only

Related”’Concept

dia is @ federal system but with wore il towards
A unitdry system of goverwment. It ic sometimes
considered a quasi-federal systew as it has features of
both a federal and g unitlry system. Article 1 of the
twdian Conmstitution states, India, that [ Bharat, shall
be a union of states:,

(b) A,Cand D

(d) B and C only
Ans.

e Congratulations!! You are
I&_ doing well... just keep taking

steps forward....

000

——— Moy

1. What is Federalism? i

Ans. Federalism is a system of Bovernment iy i 1
the power is divided between 3 central ayy, l.th :
and various constituent units of the COUntWo".
vertical division of power among different f.Eve:s
of governments is referred tq as federalism5 .
Federalism is one of the major ‘
sharing in modern democracies.

forms of POwer.

Short Answer Type Quesm 4
(Average) (2-3 Marks) *

——_-_‘——-—
2. Describe any three features of “Unitary

Government.” (2020 Series: JBB/1)
Ans. Features of ‘unitary government’: |
(i) There is only one level of government or the |
sub-units are subordinate to the Centre, '

(i) The Central Government can pass orders to |
the provincial or the local government. For
example, UK.

(iii) State Government has power of its own for ;
which it is not answerable to the Central
Government.

(iv)] Both these Governments are separately
answerable to the people.

3. India comes under which type of federation and

why? (2014)

Or, Under which type of federation India tﬂm_ﬁ?
Mention any two features of such federation-
(2018 Comptt)

Ans. India comes under ‘a holding together’ Pt
federation. In this type of federation, 3l|3rgi
country divides its power between the consfituer

States and the National government. Thereh':

one government for the entire country and I:h

others are governments at the State level Boer

Central and State Governments enjoy their PO¥

independent of the other. werfu

The Central government tends to be more P e

Vis-a-vis the states. Often different consti

units of the federation have unequal power oS
ration

4. State two agreements through which fedea y
have been formed. Give an example of €



0 ‘coming together” federations —This agree.
Ant ment induces independent states coming
ogether on their own to form a bigger unit,
o that by pooling sovereignty and retaining
identity they can increase their security.
pxamples: USA, Switzerland and Australia. All
the constituent states have equal power and
are strong vis-a-vis the federal government,
(1) Holding together” federations—In this
* agreement, a large country decides to divide
its power between the constituent States
and the national government. The Central
Governments tend to be more powerful vis-
a-vis the states. Often different constituent
units of the federation have unequal powers.
Examples: Spain and Belgium.

long Answer Type Questions (LA)
(Difficult) (5 Marks)

5 Explain any five features of federalism.  (2015)
Or, Describe any three features of federal govern-
ment. (2020 Series: J8B/1)

ans. Fectures of federalism:

(/) There are two or more levels of government.

(i7) Different levels of government govern the
same citizens, where each level has its own
jurisdiction in specific matters of legislation,
taxation and administration. '

() Existence and authority of each level of
government is constitutionally governed.

(w) The fundamental provisions of the
Constitution cannot be unilaterally changed.
Such changes require the consent of both
the levels of government.

(v} Courts have the power to interpret the
Constitution and powers of the different
levels of government. The highest court acts
2s the umpire if any dispute arises between
different levels of governments.

(vi) Sources of revenue for each level of
government are specified to ensure its
financial autonomy.

(vii) Federal system has dual objectives. To
safeguard and promote unity of the country,
and to accommodate regional diversity.

Related”’ Concept

' 8 federsl ctrusture, powe and responslbility are
Jorrbasd oervee different layers of Government. In the
“s A 100.9, tre youne vo vaice veonty) 0s viell 65 the power
Y sped Lo distidbuted poroce the Umion Goutrmment,
S0t Cortepmatnss, uvdd Local Cutrmmtnss,
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4 SUBJECTIVE TOPIC-2
What makes India a
Federal Country 2

Short Answer Type Questions (SA-I)

(Easy) (1 Mark)
6. Which state In India had its own Constitution?
(2012)

Ans. Jammu and Kashmir
(Now, the constitution of India is applicable to J&K
just like any other States and Union Territories of
India.)
7. Name the subject list from which both the Union
and the State governments can make laws?
(2017 Delhi)
Ans. Concurrent List

Short Answer Type Questions (SA-II)

(Average) (2-3 Marks)
8. Explain the vertical division of power by giving
examples from India. (2013)

Ans. When power is shared among governments at
different levels, i.e., the Union or the Central
Government, the State Government and the
Municipality and Panchayat at the lower level.
This division of power involving higher and lower
levels of government is called the vertical division
of power.

Verticaldivisionof powerinIndia. The Constitution
declares India as a Union of States. Although the
word ‘Federation’ is not used, the Indian Union
is based on the principles of federation. The
Constitution originally provided for a two-tier
system of government, the Union Government
or the Central Government representing Union of
India and the State Governments. A third-tier of
federation was added in the form of Panchayats
and Municipalities. As in any federation, these
different tiers enjoy separate jurisdiction. The
Constitution provides for a three-fold distribution
of legislative powers between the Union Govern-
ment and State Government. It contains three lists:

() Union List (97 Subjects)

(if) State List (66 Subjects)

(ili) Concurrent List (47 Subjects)

9, What Is the role of the Judiclary in the Indian

Constitution?
Or, Why Is the role of Judiclary Important in over-
seeing the Implementation of Constitutional

Provislons?

.*‘-!a
e
2
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Ans, Although judges are appointed by the executive,
they can check the functioning of executive or
laws made by the legislature. The courts have
the power to interpret the Constitution and the
powers of different levels of government. In case
of any gispute about the division of powers,
the High Courts and the Supreme Court make

a decivon. The highest court acts as umpire if

Sisputes arise between different levels of govern-

ment in the exercise of their respective powers.

Llong Answer Type Questions (LA)
(Difficult) (5 Marks)

10. Describe the three forms of power sharing among

different organs of government in India. (2014)

Ans. The Consttution declared India as a Union of

Stztes based on the principles of federalism. The

Consttution originally provided for a two-tier

system of government, the Union or the Central

Government representing Union of India and the

Stzte Governments. Later, a third tier was added

in the form of Panchayats and Municipalities.

As in any federation, these different tiers enjoyed

separate jurisdiction. The Constitution provided a

three-fold distribution of legislative powers:

(7} Union List includes subjects of national
importance, ie., defence of the country,
foreign affairs, banking, communications
and currency.

(i) State List contains subjects of state and local
importance, ie., police, trade, commerce,
2griculture and irrigation,

(iii) Concurrent List includes subjects of common
interest to both the Union Government
2s well as the State Governments, ie.,
education, forests, trade unions, marriages,
adoption and succession,

In case of dispute, law made by the Union
Government shall prevail,

(iv) Residuary—Subjects which do not fall in any
of the three lists, ie, computer software,
etc. Union Government has the power to
legislate such subjects,

® As India is an example of ‘holding
together’ federation, all states in the
Indian Union do not have identical
powers, There are some states too
<small to become independent like the
Union Territories of Chandigarh and
Lakshadweep,

* This sharing of power between the
Union Government and State Govern-

ments is basic 1o tr
Constitution, Any ange tuc_‘ul'e
Passed by both the ”Dusem
liament with at least two~t;i £ Par.
The Judiciary plays an b rd my

the implementation of ¢ anlt fole |
procedures. In case of any dis o
division of Powers, the High gl;tea u

the Supreme Coyry Make 5 deci:ir:,s ang
n.

g SUBJECTIVE Topc. 4
How is Federalism
~ W practised 2

Short Answer Tm

(Easy) (1 Mark)
— 1 Moy
11. What status ha

s been given to the ‘Hingy
language by the Constitution of Indja? (2013)
Ans. Hindi has been given the status of ‘Officia|
language’ by the Constitution of India.
12. Much of the official work in Indian States
in which language? (2014)
Ans. Much of the official work in Indian States is dane
in the official language of the concerned state.

is done

Long Answer Type Questions (LA)
(Difficult) (5 Marks)

13. Why has federalism succeeded in India? Which
are the policies adopted by India that have
ensured it? Explain. (2013, 2012)

Ans. Reasons for success of federalism in India ore:

(i) Clearly laid out Constitutional Prouislonr:
providing a three-fold distribution of DOw"(t
n the three lists—Union List, State FL"n
and Concurrent List—between the Uni0
Government and State Governmer\ts.l

(i) The nature of democratic P°"“cs'lir:n .
country which ensures that.the ijpdesirt’
federalism, respect for diversity agideal-
for living together became a share Jndaries

(iii) The creation of linguistic states. Bochange
of several old states of India weré as done
in order to create new states. This :\;“e same
to ensure that people who SpoluT_atEr some
language lived in the same sta-te' difference®
states were created to recognise raphy:
based on culture, ethnicity or §€06

our

el



For example: Nagaland,  Uttrakhand,
Jharkhand, Telangana, etc.
(V) Restricting  Centre-State  relations. The

cc,nsn‘tutional arrangements for Sharing
power work depending on how the ruling
parties and leaders follow these arrange-
ments. For a long time, the same party ruled
both at the Centre and in most of states,
post-1990 saw the rise of regional parties.
since no single party got a clear majority in
the Lok Sabha, the national parties had to
enter into an alliance which led to a new
culture of power sharing and respect for
autonomy of State Governments.

14. Describe in brief the language policy of India?

Ans.

15,

Ans.

(i) Our Constitution did not give the status of
national language to any one language.

(i) The formation of linguistic states united the
country and made administration easier.

(iif) The leaders of our country adopted a very
cautious attitude in spreading the use of
Hindi. Hindi was identified as official language.

(iv) The banning of use of English for official
purposes in 1965 took a violent form in Tamil
Nadu. The Central Government responded
by agreeing to continue the use of English
along with Hindi for official purposes.

(v) Promotion of Hindi is an official policy of
the Government of India but it does not
impose Hindi on states where people speak
a different language.

(vi) Besides Hindi, there are 21 other languages
recognised as scheduled languages by the
Constitution. .

(vii) This flexibility shown by Indian leaders
helped our country avoid the situation that
Sri Lanka finds itself in.

How is federal power sharing more effective

today than in the early years? Explain. (2017 OD)

() Federal power sharing is more effective

because of the nature of democratic politics

in India. It has ensured that the spirit of

federalism, respect for diversity and desire

for living together have become a shared
ideal in our country.

(ii) Federal power sharing has helped toinculcate
a habit of democratic participation. Federal
power sharing is the best way to realise one
important principle of democracy, namely
local self-government. Constitutional status
for local government has helped to deepen
democracy.

* It hasincreased women's representation
and voice in democracy.

Federalism || P-27 ﬂ

e Federal power sharlng has led toO
formation of linguistic states which has
actually made the country more united.
It has also made administration easier.

o It reduces the power of the Central
government and gives power to regional
governments.

8 SUBJECTIVE TOPIC-4

Decentralisation in India

Short Answer Type Questions (SA-I)
(Easy) (1 Mark)

16. What is Rural local self government popularly
known as? (2013)
Ans. Panchayati Raj
17. Which local body has a ‘Mayor’ as its head?
(2014)
Ans. Head of Municipal Corporation is a Mayor.

18. What other factors besides politics keep the
federations united? (2015)
Besides politics, other factors which keep the
federations united are culture, ideology and
history. Culture of trust, cooperation, mutual
respect and restraint has also helped in the
smooth functioning of nations.

19. What was the main objective of the Constitutional
Amendment made in 1992 in India? (2015)
The main objective of the Constitutional
Amendment in 1992 was to strengthen the
three-tier system of governance, i.e.,, make the
Panchayati Raj Institution and the urban local
bodies more powerful and effective.

Ans.

Ans.

Short Answer Type Questions (SA-II)
(Average) (2-3 Marks)

20. Evaluate the strengths and limitations of local
self-government in a democracy. (2019 JMS/4)
Or, Explain two achievements and two difficulties of
local self governments in India.
Ans. Strengths:

() Local self governments make it possible
for the people at the local level to directly
participate in decision making. This
helps to inculcate a habit of democratic
representation. Thus constitutional status

JIN3EIS 1VIILN0d

PP e



POLITICAL SCIENCE

for local government has helped to deepen
democracy in our country.

(i) Local self-governments also have helped to
increase women's voice and representation
in our democracy.

Umitations:

{1 While elections are held regularly and enthu-
siastically, Gram Sabhas are not held regularly.

() Most State Governments have not trans-
ferred significant powers to the Local
Governments nor have they given them
adequate resources.

21. Why is decentralisation favoured in democracy?

Identify any two reasons. (2014)

Or, Describe the rationale behind the implementation
of decentralisation in India. (2020 Series: JBB/3)
Ans. Advontages of decentralisation of power:

() When power is taken away from Central
and State Governments and given to local
governments, it is called decentralisation.
The basic idea behind decentralisation is
that there are a large number of problems
and issues which are best settled at the
local level. People have better knowledge of
problems in their localities.

(i) They also have better ideas on where to
spend money and how to manage things
more efficiently.

(iii) Besides, at the local level, it is possible for
the people to directly participate in decision
making. This helps to inculcate a habit of
democratic participation.

(iv) Local government is the best way to realise
one important principle of democracy,
namely local self-government.

(v) The need for decentralisation was
recognised in our Constitution. A major step
towards decentralisation was taken in 1992.
The Constitution was amended to make the

third tier of democracy more powerful and
effective.

Long Answer Type Questions (LA)
(Difficult) (5 Marks)

22. Which five provisions of the constitutional
amendment of 1992 really strengthened the
third-tier of democracy in India? Explain.

(2015, 2013, 2012)

Or, Describe any three provisions of amendment
made in ‘Indian Constitution’ in 1992 for making
‘Three-Tier' government more effective and
powerful. (2018)

\ T
LI Ed
% o

P-28 || Shivias Board Exams Question Bank (Soclal Sclence X)

Or, Describe any three steps taken

by In
ment towards decentralisation dian

of pow

er|
(2020 sy " 199
Or, What amendments were made ip

tution in order to make the thirg tier of 4
(Local Government) more POWerful ang e

Ans. Major steps towards d'-’fentra”sa” €tive)
strengthening of third tier taken jn 19920’3 ang

(i) Now it is constitutionally mandatmre;

hold regular elections tq Local Goy ory g

bodies. €ramen,

(i) Seats are reserved in elected bogi
scheduled castes, scheduleq tribees for
other backward classes (OBCs), S ang

(iii) Atleast one-third of al| positio
are reserved for women,

(iv) An independent institution called the Sty
Election Commission was Created to cgnq te
Panchayat and Municipal elections, o

(v) The State Governments are requireq |
share some powers and revenue with LO{':[

Government bodies.
23. Explain the structs:re of the new Panchayati Raj
institutions, both in rural and urban areas,
Ans. Rural Local Government is known by the name of
Panachayati Raj/Democratic decentralization,

— Each village or group of villages has 3 Gram
Panchayat.

— Panch, President or Sarpanch are directly
elected by all the adult population of the
village and is the decision-making body.

— The Panchayat works under the supervision
of Gram Sabha, with all the voters as its
members.

— The local structure goes up to the district
level—a group of Gram Panchayats form a
Panchayat Samiti or Block or Mandal.

— All the Panchayat Samitis or Mandals
together constitute the Zilla Parishad which
consists of elected members.

— Lok Sabha members, Local MLAs and officers
are also members of the Zilla Parishad.

— Its Chairperson is the political head of the
Parishad.

Urban areas local bodies:

— Municipalities are set up in towns. |

— Big cities are constituted into Municipd
Corporations. ,

— Both are controlled by elected bode
consisting of people’s representatl.\l_'fs-| head

— Municipal chairperson is the politica
of the Municipality. _

The head of Municipal Corporation Is
called the Mayor.

NS and sey,

an officer
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Q.36.

36.1,

36.2,
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SCAN ME!

FOR ANSWERS

___ 2024 (Series: AB3CD/1) Set-l —

Match the Column | with Column Il and choose

the correct option: 1
the s
Column | Column Il
(List) (Jurisdiction Sphere)
T Union list | A. State Governments alone
subjects make laws on it.
i1 | state list | B. For uniformity Central Gov-
subjects ernment Legislates on it.
n. | concurrent| C. Subjects under Jurisdiction
subjects of Centre and State Govern-
ments.
Iv. | Residuary | D. Central Government legis-
L_ubjects lates on new subjects.
Options:
| Il ]| v
(a) A B C D
(b) C D A B
(c) D C B A
(d) B A C D
Read the following source carefully and answer
the questions that follow: 4
LOCAL GOVERNMENT

This new system of local government is the
largest experiment in democracy conducted
anywhere in the world. There are now about 36
lakh elected representatives in the panchayats
and municipalities etc., all over the country. This
number is bigger than the population of many
countries in the world. Constitutional status for
local government has helped to deepen democracy
in our country. It has also increased women’s
representation and voice in our democracy. At
the same time, there are many difficulties. While
elections are held regularly and enthusiastically,
gram sabhas are not held regularly. Most state
governments have not transferred significant
powers to the local governments. Nor have they
given adequate resources. We are thus still a long
way from realising the ideal of self-government.

Analyse the significance of the elected
representatives in the Panchayats. 1
In what way has the representation of women
in democracy influenced by Constitutional status
for local government? 1
What has been the impact of granting Constitu-
tional status te local government on the demo-

tratic landscape of the country? Analyse any two
impacts, 2

— 2024 (Series: AABB1/3) Set-l —

Q.10.

Q.14. Which of the

Q.36.

36.1

36.2

36.3

Match Column~| with Column—Il and choose the

correct option from the following: 1
Column [ (List) Column Il
(Subject List in the (Subject)

Indian Constitution)

I. | Union List (A) Trade Union
Il.| State List (B) Banking
1. | Concurrent List (C) Police
IV. | Residuary List (D) Internet
Options:
| 1 il v
(@) (D) (A) (C) (B)
(b) (B) (C (A) (D)
(c) (A) (B) (D) (Q)
(d) (C) (D) (B) (A)

following is responsible for
resolving disputes between Centre and States? 1
(@) Finance Commission of India
(b) Supreme Court of India
(¢) President of India
{d) Prime Minister of India

Read the following source and answer the
questions that follow: 4
Panchayati Raj
“We need to give more power to the panchayats
to realise the dream of Mahatma Gandhi and
the hopes of the makers of our Constitution,
Panchayati Raj establishes true democracy. It
restores power to the only place where power
belongs in a democracy—in the hands of the
people. Giving power to Panchayats is also a way
to reduce corruption and increase administrative
efficiency. When people participate in the
planning and implementation of developmental
schemes, they would naturally exercise greater
control over these schemes. This would eliminate
the corrupt middlemen. Thus, Panchayati Raj will

strengthen the foundations of our democracy.”

How does giving power to Panchayats relate to
the vision of Mahatma Gandhi? 1
Explain the primary objective of giving power to
the Panchayats. 1
How does the establishment of Panchayati Raj
contribute to democracy? Explain. 2

4000
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Competency Based Question,

Stand Alone Multiple 1
mark

Choice Questions

1. Here are three reactions to the language policy
followed in tndia. Which of the following holds
true in the case of India?

(a) The policy of accommodation has
strengthened national unity.

(b) Language based states have divided us by
making everyone conscious of their language.

(c) The language policy has only helped to
consolidate the dominance of English over
all other languages.

(d) None of the above

2. Consider the following statements on the
practice of federalism in India. Identify those
which hold true for decentralisation after 1992.

A. Local governments did not have any power
or resources of their own.

B. It became constitutionally mandatory to hold
regular elections to local government bodies.

C. The state governments are required to share
some powers and revenue with local govern-
ment bodies.

D. No seats are reserved in the elected bodies
for scheduled castes, scheduled tribes and
other backward classes.

Choose the correct statements:
(@) Band C (b) Aand C
(c) Aand D (d) Band D
3. In a’Holding together federation’:
A. A large country divides its power between
constituent  states and the national
government,
B. The Central government tends to be more
powerful vis-a-vis the States.
C. All the constituent states usually have equal
powers,
D. Constituent states have unequal powers.
Which of the above statements are correct?

(@) A, B,Cand D (b) Aand D

(c) Band C (d) A, Band D

4. :Nhic!m among the following are examples of

Coming together federations’?

(@) India, Spain and Belgium

(b) India, USA and Spain

(c) USA, Switzerland and Australia

(d) Belgium and Sri Lanka

POLITICAL SCIENCE

N
5. The Union List includes subjects ych, as: '
(a) Education, forests, trade upjq .
adoption and succession,
(b) Police, trade, commerce, 3
irrigation.
(c) Residuary subjects like compyter
(d) Defence, foreign affairs, bankin
communications.

S Martiggy,

Bricultyre ang
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6. The system of Panchayati Raj involves:
(a) Village, State and Union levels
(b) Village, District and State leve|s
(c) Village and State levels
(d) Village, Block and District levels
7. Which one of the following States in India
own Constitution?
(a) Uttarakhand (b) Madhya Pradesh
(c) J&K (d) Nagaland
8. When was the beginning of the era of Coalitign
Governments at the Centre which led to 3 new
culture of power sharing and respect for the
autonomy of State Governments? ‘

(@) 1980s (b) 1990s
(c) 1870s (d) 2000 onward
9. Census of India held in 2011, recorded more

than .............. distinct languages which people
mentioned as their mother tongues?

{(a) 200 (b) 500 (b) 1200 (d) 1300
10. In the data for Scheduled Languages of India

which is the second highest in proportion of

speakers (%) after Hindi?

(@) Telugu (b) Tamil (c) Bengali(d) Urdu
11. As for Emglish, only ............. per cent Indians

recorded it as their mother tongue?

(@) 20% (b) 5% (c) 0.5% (d) 0.02%
12. Consider the following two statements.

A. In a federation the powers of the federal and
provincial governments are clearly demarcated.

B. India is a federation because the powers of the
Union and State Governments are specnﬁ.ed
in the Constitution and they have exclusié
jurisdiction on their respective subjects.

C. Sri Lanka is a federation because the count™
is divided into provinces.

D. India is no longer a federation becau
powers of the States have been devo
the local government bodies.

Choose the correct statement:
(@) A,Band C (b) A, Cand D
(c) A and B only (d) B and Conly

had it

e some
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pederal power sharing in India needs another
13. ot f government below that of the State
vernments, it is called ........... "
(a) State offices (b) District government
(c) Local government (d) Tehsils
" consider the following statements regarding
language policy of Indian Federation.
A. Hindi was identified as the official language.
B. Besides Hindi, there are 21 other languages
recognized as scheduled languages.
¢. English can be used along with Hindi for
official purpose.
Choose the right option from the following:

() Aand C (b) Aand B
(c) only A (d) A,Band C

15. Who is empowered to make laws on Union List?
(a) President (b) Central Government

(¢) Prime Minister (d) None of these
16. Who can declare a law as unconstitutional if it
conflicts with the provision of the Constitution?
(a) President (b) Prime Minister
(c) Judiciary (d) Lock Shabha Speaker
17. Which of the following state was not created
due to its linguistic identity?
(a) Tamil Nadu (b) Andhra Pradesh
(¢) Uttrakhand (d) Karnataka
18. Which of the following does not form the basis of
distribution of power in Indian Federal system?
(@) Union list (b) State list
(¢) Parliamentary list (d) Concurrent list
19. The System of Panchayati Raj involves:
(a) The village, block and district levels
(b) The village, and state levels
(c) The village district and state levels
(d) The village, state and Union levels
20. Which of the following subjects is not included
in the state list?
(@) Law and order (b) National defence
(¢) Education (d) Agriculture
21. In India’s federal system, the state governments
have the power to legislate on all those subjects
which are included in the .............. .
(a) Union list (b) State list
(c) Concurrent list  (d) Residuary subjects
22. Read the following statements and choose the
correct option: (2023)
I. There is no official religion in India.
Il. Communities have freedom to profess and
practice their religion.
lll. State helps communities by giving aid to
educational institutions run by them.
IV. India believes in theocracy.
Option:
(@) 1, 11 and 11 (b) 1, Il and IV
() 1, 11 and 1v (d) 1, 11 and IV
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Assertion-Reason
Questions

DIRECTION: There are two statements marked as
Assertion (A) and Reason (R). Read the statements and
choose the correct option:
(a) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion.
(b) Both Assertion and Reason are true but Reason
is not the correct explanation of Assertion.
(c) Assertion is true but Reason is false.
(d) Both Assertion and Reason are false.

mark

1. Assertion. Belgium and Spain has ‘holding
together’ federation.
Reason. A big country divides power between
constituent states and national government.

2. Assertion. It is very simple to make the changes in
the basic structure of the constitution.
Reason. Both the houses have power to amend
the constitution independently.

3. Assertion. Coalition government is formed during
dearth of coal in the country.
Reason. It helps in overcoming coal crisis.

4. Assertion. India has a federal system.
Reason. Under a unitary system, either there is
only one level of government or the sub-units are
subordinate to central government.

5. Assertion. A major step towards decentralization
was taken in 1992 by amending the constitution.
Reason. Constitution was amended to make the
third ter of democracy more powerful and
effective.

6. Assertion. Hindi is identified as the only official
language of India.
Reason. It helped in creating supremacy of Hindi
speaking people over others.

7. Assertion. India is a federation.
Reason. Power resides with the central authority.

8. Assertion. The subjects which are not included
in Union List, State List and Concurrent List are
considered as residuary subjects.

Reason. The subjects included that came after
constitution was made and thus could not be
classified.

9. Assertion. Zilla Parishad Chairperson is the
political head of the zlla parishad.

Reason. Mayor is the head of municipalities.

10. Assertion. Third-tier of government is local

government.
Reason. It made democracy weak.

E
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about efforts for decentralisation in India?
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ase/Source Based

4-5

Questions |[Hlele

| federalism is a system of government in which the
" ower is divided between a central authority and
\arious constituent units of the country. Usually,
3 federation has two levels of government. One
is the government for the entire country that s
usually responsible for a few subjects of common
nstional interest. The others are governments at
the level of provinces or states that look after
much of the day-to-day administering of their
«ate. Both these levels of governments enjoy
their power independent of the other.
Answer the following MCQs by choosing the
most appropriate options:
1. Which of the following is a special characteristics
of Indian federalism.
(a) The powers are equally divided between the
Centre and the State.
(b) The Centre is stronger than the State as it
enjoys powers stated in the concurrent list,
(¢) Centre is stronger than the State as the
powers are listed in the constitution.
(d) None of the above

L India follows the principle of decentralizing power

at the lowest level, because ........cccocuerees «
(a) It has introduced panchayat system in the
villages.

(b) 1t has municipal corporations in the urban areas.
(c) Both (a) and (b)
(d) Only ()

3. Why did India adopt a federal system of govern-
ment?

(@) Due to economic disparities.
(b) Variant culture, languages and ethnicity.

(c) Indian leaders believed in decentralizing power.
(d) India has a large population.

4, How many union territories does India have?

(o) 8 (b) 7 (c) 9 (d) 6

Il The federal system thus has dual objectives: to
safeguard and promote unity of the country, while
atthe same time accommodate regional diversity.
Therefore, two aspects are crucial for the institu-
tions and practice of federalism. Governments
3t different levels should agree to some rules of
Power-sharing. They should also trust that each
¥ould abide by its part of the agreement. An
Ideal federa| system has both aspects: mutual
trust ang agreement to live together.

Answer the following McCQs by choosing the
™ost appropriate options:

10.

11,
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+ Which are the two levels of government in

federalism?

(a) Center & district (b) Center & states
(c) States & Districts (d) Districts & Villages
How does federalism promote unity?

(@) Concentration of power

(b) Distribution of power

(¢) Majoritarianism

(d) None of the above

- How has there been power sharing in India?

(a) Enumeration of legislative powers of Centre
and State in the constitution.
(b) Self-governing powers to the lower units.

(c) Granting of fundamental rights to the Indian
citizens.

(d) All of the above

- What type of government was established in

Belgium?

(a) Federal form of government

(b) Democratic form of government
(¢) Unitary form of government

(d) Only (a) and (b)

When power is taken away from Central and State
governments and given to local government, it
is called decentralisation. The basic idea behind
decentralisation is that there are many problems
and issues which are best settled at the local
level. People have better knowledge of problems
in their localities. They also have better ideas
on where to spend money and how to manage
things more efficiently. Besides, at the local level
it is possible for the people to directly participate
in decision making. This helps to inculcate a habit
of democratic participation. Local government is
the best way to realise one important principle of
democracy, namely local self-government.

Answer the following MCQs by choosing the
most appropriate options:

. Why was there an urgent need in India for

decentralization?

(a) India is a very diverse country

(b) India is a large country

(¢) There is multiplicity of language and culture
(d) All the above

Name the form of self-government in India
introduced at the level of villages.

(@) Panchayat Raj

(b) Municipalities

(¢) Municipal corporations

(d) None of the above

Why decentralization is essential feature of
democracy. .
(a) People learn to be more vigilant.
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1| Shivilas Board Exams Question Ba

ower level.

decivions at !
democratic

(&) People leam to take
(&) People leam 1o participate ina

Manngr
(&) Aill the above
Name the form of selfgovernment in metro-
politan cibes
{e) Mumcipaiities

{€) Tifta parishad

-

(&) Gram Sabha
) Municipal corporations

V.

Answer the following MCQs by choosing the
most aporopricte opdons:
13. Nazme the leader shown as Prime Minister in the

cartoon.
(@) Jawshar Lzl Nehru (b) Indira Gandhi
(o) Bajv Gandhi (d) Manmohan Singh
14. What does the cartoon reflect? State the correct
opton.
{g) Stztes depend on Centre
(b) Center depends on states
(¢} Municizzimes depends of Zilla Parished
[£) Tiiz Parished depends on Municipalities
15. What kind of powers can the states be seen

demanding here?

(g) Fsczl powers (b) Policing powers

(c) Oniy (a) (d) Both (a) and (b)
V. This new system of local government is the
fargest erperiment in  democracy conducted

zrmywhere in the world. There are now about 36
lzyn elected representatives in the panchayats
znd municipzlides etc., all over the country. This
rurnber is bigger than the population of many
countries in the world. Constitutional status
for loczl government has helped to deepen the
Cemocracy in our country.
Answer the following MCQs by choosing the
most appropriate options:

16. When was a major step taken towards decentral-
isation?
(a) 1992 (b) 1997 (c) 1990 (d) 1994

17. Inthe local government elections at least ............
of all positions are reserved for women?
(a) 1/3rd (b) 2/2rd (c) 50% (d) 25%

|
I
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18. An independent institution callag th
Election Commission has been cr@ated? Stata
state to conduct panchayat N eacy

VI.

19.

20.

21.

VIL.

22

23

24

and m
elections. (True/False) Unicipgy

Read the given source and answer the Qe
that follow:

DECENTRALISATION IN INDIA
This new system of local government i
largest experiment in  democracy cond
anywhere in the world. There are now about
lakh elected representatives in the Panch; 3
and municipalities etc., all over the country i;k
number is bigger than the population of 'ma is
countries in the world. Constitutional status fr;Y
local government has helped to deepen democr, r
in our country. It has also increased WOTne:’:
representation and voice in our democragy
At the same time, there are many difﬁCUIﬁES'
While elections are held regularly of Panchayag;
and people participate enthusiastically in it but
meetings of gram sabhas are not held regularly,
Why is Indian decentralisation considered as the
largest experiment in democracy?
Analyse how constitutional status for local govern
ment has helped to deepen democracy in India?
Explain any two steps taken by the Indian
Government for decentralisation.

Nons
(2023]

S the
Ucted

Read the given source and answer the questions
that follow: (2023)
LANGUAGE DIVERSITY OF INDIA
How many languages do we have in India? The
answer depends on how one counts it. The latest
information that we have is from the Census of
India held in 2011. This census recorded more than
1300 distinct languages which people mentioned
as their mother tongues. These languages were
grouped together under some major languages.
For example languages like Bhojpuri, Magadhi,
Bundelkhandi, Chhattisgarhi, Rajasthani and many
others were grouped together under Hind"
Even after this grouping, the Census found 121
major languages. Of these 22 languages are now
included in the Eighth Schedule of the Indian
Constitution and are therefore called 15cheduled
Languages’. Others are called ‘Non-Scheduled
Languages’. In terms of languages, India is perhaps
the most diverse country in the world.

Expfain the importance of language diversity 0
India. Nor
Differentiate between Scheduled and

Scheduled Languages.

‘The fusion of languages has unite
into one cultural entity. Explain t
with an example.

d the countr .
he statemen'
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stand Alone
Multiple Choice Answers

1. (0 2. (a) 3. (d) 4. (c)
' 6. (d)

(¢) (NOW, the constitution of India is applicable to
7'1 & K just like any other states and Union

rerritories of India.)

8. (b) 9.(d) 10.(c) 11 (d)
2 13 14 15()
6@ 170 18.() 19 (a)
w.(b) 21.() 22 (a)

Assertion-Reason Answers

1. (o) Both assertion and reason are true and
reason is the correct explanation of assertion.
The power of a large country is divided between
constituent states and national government. The
central government is more powerful than the
states.

2. (d) Both assertion and reason are false.
It is difficult to make changes in the constitution
in the federal system. Any change has to be first
passed through both the houses of Parliament
through atleast two-third majority. Then it has to
be ratified by the legislatures of atleast half of the
total states.

3. (d) Both assestion and reason are false.
When no party is able to prove clear cut majority,
several regional parties come together to form
coalition government. It has no connection with
scarcity of coal in the country.

- (b) Both assertion and reason are true but reason
is not the correct explanation of assertion.
India has a federal government. There is a central
government for the entire country and state
governments for different regions.

- (@) Both assertion and reason are true and
reason is the correct explanation of assertion.
The constitution was amended in 1992 to make
the third tier more powerful and effective. It
Includes steps Jike regular elections for local
government bodies, reservation of seats for OBC,

10.
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Competency Based Answers

SC, ST and women and creation of State Election
Commission.

. (c) Assertion is true but reason is false.

Hindi is the identified as official language of
India. However, it is spoken by only 40 per cent
of Indians. Thus, to safeguard the rights of other
linguistic communities, 21 other languages
were recognized as Scheduled Languages by the
Constitution.

. (a) Both assertion and reason are true and

reason is the correct explanation of assertion.
India is a federal government and there is
three-tier system of power sharing with Central
Government, State Government and local self
government. As it is a union of states and not a
federation.

. (a) Both assertion and reason are true and

reason is the correct explanation of assertion.
The subjects which are not included in Union List,
State List and Concurrent List are considered as
Residuary subjects. It includes the subjects such as
computer software that came after constitution
was made. Union Government has power to
legislate on these ‘residuary’ subjects.

. (b) Both assertion and reason are true but reason

is not the correct explanation of assertion.
Panchayat samitis of a district together form the
Zilla parishad. Zilla Parishad chairperson is the
political head of the Zilla parishad. Municipalities
are set up in towns. Mayor is the head of
municipalities.

(c) Assertion is true but reason is false.

The third tier of government is done through
decentralisation. It helped in making democracy
stronger by Biging it to grass root level. Thus, the
reason is false but assertion stands true.

Match the Columns

. (@)—=(i); (b)—{iii); (e)—(iv); (d)—(ii)
. (a)—(ii); (B)—(iv); (e)—(i); (d)—Lii)
. (a)
- (e)
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VL 19. There are

Picture Based Answers

1. (&)
2. The newspaper clippings show two

sides of

the coin: One one hand, decentralisation has
increased women's representation and volce in
our country. Women are becoming ‘Pradhans’
and are being elected to Panchayats. On the other
hand. there are sbll many difficulties in realising
the objectves of decentralisaton. Corruption
sbll prevails and enough powers and resources
have not been given to local bodies. The three-
der system is often being misused as can be seen
from the clippings regarding Panchayats posts in
Tamil Nadu.

Case/Source Based Answers

1. () 2.(c)  3.(b) 4. (a)
n S (%) 6. (b) 7. (d) 8. (a)
m 9. () 10.(a) 11.(d) 12. (d)
V. 13. () 14.(a) 15 (a)
V. 16 (o) 17.(a) 18. True

about 36 lakh elected
representatives in the panchayats and
municipalites all over the country. This
number is bigger than the population of
many countries in the world. So, Indian
decentralisation is considered as the largest
expenment in democracy.

Vil.

20.

21,

22,

23,

24,

By Increasing Women's represany

voice In the country, the tnnstitu'“ tiop ang

of local government has helped onal $aty

democracy in India, i deepy,

Steps taken by the Indian Go

decentralisation;

(a) Now It s constitutionally ,
to hold repular elections
Government bodies,

(b) Atleast one-third of a
reserved for women,

(c) States are reserved in electe
SC, ST and OBCs.

Language diversity has helped prege
unique identities and cultures of
communities. It has also contribyte
development of various art forms, |
and music.

(a) 121 languages of the major Indian 2
languages have been included |n the
eighth schedule of the constitution,
These 22 languages are called Scheduleq
languages.

(b) The other languages which have not
been included in the eighth schedule are
called Non-scheduled languages.

andtlton’
0 ogy

The diverse languages and cultures of India
have blended together to create a shared
sense of national identity. One example of
this fusion can be seen in Bollywood films.
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